ds  ALHX) "=l FAYE(cum f)  WigE SAUEE
1 330-334 4 4 8% 8%
2 335-339 5 9 10% 18%
3 340-344 6 15 12% 30%
4 345-349 9 24 18% 48%
5 350-354 7 31 14% 62%
6 355-359 7 38 14% 76%
7 360-364 5 43 10% 86%
8 365-369 4 47 8% 94%
9 370-374 3 50 6%  100%
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18%= FAE = Foatle FAME S FusiEH 360-364740] sidd A
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--—> WA sigEE FANE= siY FA% x AA| Al 4(N)/100 <.
78%0] siF == =AYl T (cum f)= 78 x 50/100 = 39

AL 54, 78% 2 37+ AU ¥l=(fi) = 5,

= Aa7t &7 A 7Rle) RANE = 38

AEE FA Xp = Xll + I(cum f = cum fll)/fi of CHUSHEH

X78% = 359.5 + 5(78x50/100 - 38)/5 = 360.5
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Zro wieto @ o]71S ZAl Px= {cum fll + [(X- XlI)/i] x fi}/N x 1000] cjelsl®
P360.5 = {38 + [(360.5- 359.5)/5] x 5}/50 x 100 = 78%



